Annex 1

	Road	Road Name	Road Description		Parish	0	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
	Number	Name	From	То		m	m	sq.m	£	
	A322	Bagshot Road	SB DUAL CWAY THROUGH RINGMEAD/OPLADEN WAY R/A		Bracknell	92.92	9.5	882.74	22,069	)
	A322	Bagshot Road	NB DUAL CWAY THROUGH RINGMEAD/OPLADEN WAY R/A		Bracknell	96.74	g	870.66	21,767	,
	A322	Bagshot Road	FROM CORAL REEF R/A	TO HILTON R/A	Bracknell	565.4	7.5	4240.5	106,013	3
	A322	Bagshot Road	FROM HILTON R/A	TO CORAL REEF R/A	Bracknell	559.09	8	4472.72	111,818	3
	A322	Bagshot Road	FROM BAGSHOT ROAD/SWINLEY ROAD R/A	TO BAGSHOT ROAD/NINE MILE RIDE R/A	Winkfield	2861.3	7.5	21459.75	536,494	ł
	A3095	Warfield Road	Met Off RAB	Grange Road	Bracknell	94	11	1034	25,850	)
	A3095	Rackstraw Road	Acacia Rd RAB	Magdelene Rd RAB	Sandhurst	1506.48	8	12051.84	301,296	j
	A321	Yorktown Road	FROM YORKTOWN ROAD R/A	TO WELLINGTON ROAD	Sandhurst	237.63	11	2613.93	65,348	3
	A321	Yorktown Road	FROM WELLINGTON ROAD	TO PARK ROAD	Sandhurst	405.76	7.5	3043.2	76,080	)
	A321	Yorktown Road	FROM PARK ROAD	TO SWAN LANE	Sandhurst	417.49	8	3339.92	83,498	3
	A321	Yorktown Road	FROM SWAN LANE	TO NEWTOWN ROAD	Sandhurst	144.7	9	1302.3	32,558	3
	A321	Yorktown Road	FROM CROWTHORNE ROAD	TO HIGH STREET	Sandhurst	119.14	8	953.12	23,828	3
	A332	Sheet Street Road	FROM WINDSOR ROAD	TO COUNTY BOUNDARY	Winkfield	659.65	7.5	4947.375	123,684	ŀ
	A3095	Newell Green	FROM WARFIELD ROAD	TO FOREST ROAD	Warfield	467.69	6.5	3039.985	76,000	)
	A329	Skimped Hill Lane	FROM MILLENNIUM WAY R/A	TO SKIMPED HILL LANE R/A	Bracknell	199.78	9.5	1897.91	47,448	3
	A332	Swinley Road	FROM BAGSHOT ROAD/SWINLEY ROAD R/A	TO SWINLEY ROAD 2WAY	Winkfield	189.89	4	759.56	18,989	,
	A332	Swinley Road	FROM SWINLEY ROAD 2WAY	TO BAGSHOT ROAD/SWINLEY ROAD R/A	Winkfield	199.25	4	797	19,925	<u>,                                      </u>
	A332	Kings Ride	FROM PRINCE CONSORT DRIVE	TO COUNTY BOUNDARY	Winkfield	537	9.5	5101.5	127,538	3
	A330	Pigeonhouse Lane	North Street	Braziers Lane	Warfield	1153.13	6	6918.78	172,970	)
	A321	Marshall Road	FROM DUAL C/WAY	TO MARSHALL ROAD R/A	Sandhurst	119.24	8	953.92	23,848	3
	A330	Kingscroft Lane	FROM COCKS LANE	TO MALT HILL	Warfield	502.36	5.5	2762.98	69,075	<u>,                                      </u>
	A330	Ascot Road	FROM MALT HILL	TO WELLERS LANE	Warfield	1038.77	6.5	6752.005	168,800	)
	A329	Berkshire Way	FROM BERKSHIRE WAY R/A	TO BERKSHIRE WAY MILL LA R/A	Bracknell	991.14	8	7929.12	198,228	3
	A3095	Mill Lane	FROM WILDRIDINGS ROAD	TO ELLESFIELD AVENUE EXIT SLIP S/B	Bracknell	577.94	8	4623.52	115,588	1
oundabouts	1									
	A329	3m RAB	Whole site		Bracknell	300	11	3300	82,500	,

Total 2,651,210

Road	Road Name	Road Descri	Road Description		Length (Provisional)	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
Number	Name	From	То		m	m	sq.m	£	
B3348	Dukes Ride	FROM COUNTY BOUNDARY (WELLESLEY)	TO HEATHERDENE AVENUE	Crowthorne	135.65	8	1085.2	27,130	1
B3348	Dukes Ride	FROM HEATHERDENE AVENUE	TO FINCHAM END DRIVE	Crowthorne	344.6			55,998	1
B3348	Dukes Ride	FROM FINCHAM END DRIVE	TO COPPICE GARDENS	Crowthorne	289.24			47,002	1
B3348	Dukes Ride	FROM COPPICE GARDENS	TO WATERLOO ROAD	Crowthorne	180.21	6.5		29,284	1
B3348	Dukes Ride	FROM WATERLOO ROAD	TO NEW WOKINGHAM ROAD	Crowthorne	336.93	6.5	2190.045	54,751	1
B3020	Bagshot Road	FROM COUNTY BOUNDARY	TO CORONATION ROAD	Winkfield, Ascot.	201.59		1209.54	30,239	1
B3020	Bagshot Road	FROM CORONATION ROAD	TO BOROUGH BOUNDARY	Winkfield, Ascot.	96.54		530.97	13,274	4
B3034	Warfield Street	FROM WARFIELD STREET JUNCTION	TO BRACKNELL ROAD	Warfield	49.08		294.48	7,362	2
B3034	Forest Road	FROM WICKS GREEN R/A	TO TERRACE ROAD R/A	Binfield	92.96	7	650.72	16,268	2
B3034	Forest Road	FROM CHAVEY DOWN ROAD	TO BRAZIERS LANE	Winkfield, Ascot.	739.85	6	4439.1	110,978	1
B3034	Forest Road	FROM BRAZIERS LANE	TO RHODODENDRON WALK	Winkfield, Ascot.	647.12	6	3882.72	97,068	2
B3034	Forest Road	FROM RHODODENDRON WALK	TO NEW ROAD	Winkfield, Ascot.	879.29	6	5275.74	131,894	2
B3034	Forest Road	NEW ROAD	TO COUNTY BOUNDARY	Winkfield, Ascot.	14.98	6	89.88	2,247	. 3
B3408	Wokingham Road	FROM LONDON ROAD R/A	TO JOCKS LANE	Binfield	83.16	11	914.76	22,869	2
B3408	Wokingham Road	FROM JOCKS LANE	TO WOKINGHAM ROAD R/A	Binfield	298.43	9.5	2835.085	70,877	2
B3408	Wokingham Road	FROM WOKINGHAM ROAD R/A	TO MILLENNIUM WAY	Priestwood	212.37	9.5	2017.515	50,438	2
B3018	Church Hill	FROM CARTERS HILL	TO TERRACE ROAD NORTH	Binfield	301.41	8.5	2561.985	64,050	4
B3022	Bracknell Road	FROM PARKERS LANE	TO WINKFIELD LANE	Warfield	136.56	6.5	887.64	22,191	2
B3018	Binfield Road	FROM MILLENNIUM WAY	TO FOWLERS LANE	Priestwood	64.5	14	903		2
B3430	Nine Mile Ride	FROM GOLDEN RETRIEVER	TO CROWTHORNE ROAD R/A	Bracknell	73.76		590.08	14,752	4
B3430	Nine Mile Ride	FROM START/END OF DUAL (ped. crossing o/s The Look Out)	TO START/END OF DUAL(ped. crossing o/s The Look Out)	Bracknell	47.74	11	525.14	13,129	3
B3017	Locks Ride	FROM PRIORY ROAD	TO CHAVEY DOWN ROAD	Winkfield, Ascot.	281.57		1689.42	42,236	2
B383	Sunninghill Road	FROM COUNTY BOUNDARY	TO WATERSPLASH LANE	Winkfield, Ascot.	308.23			42,382	2
B383	Sunninghill Road	FROM WATERSPLASH LANE	TO LOVEL LANE	Winkfield, Ascot.	1855.93		11135.58	278,390	2

Total 1,267,380

Road	Road Name	Roa	ad Description	Parish	Length (Provisional)	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
Number	Name	From	То		m	m	sq.m	£	
C8662	Laundry Lane	FROM YORKTOWN ROAD R/A	TO TANK ROAD R/A	Sandhurst	426.8	8	3414.4	85,360	1
C8662	Laundry Lane	FROM LAUNDRY LANE/TANK ROAD R/A	TO COUNTY BOUNDARY	Sandhurst	109.3	7.5	819.75	20,494	1
C8662	Tank Road	FROM LAUNDRY LANE/TANK ROAD R/A	TO LONDON ROAD R/A	Sandhurst	188.43	10	1884.3	47,108	, 1
C8731	Foxley Lane	FROM TERRACE ROAD SOUTH	TO MURREL HILL LANE	Binfield	211.77	6	1270.62	31,766	1
C8731	Foxley Lane	FROM MURRELL HILL LANE	TO FOREST ROAD	Binfield	781.21	5	3906.05	97,651	1
C8630	Yorktown Road	FROM BERRYBANK	TO COLLEGE ROAD	Sandhurst	53.77	7.5		10,082	
C8641	Ringmead	Hanworth Road	Birch hill Road	Birch Hill	807.81	7	5654.67	141,367	
C8642	Ringmead	FROM HANWORTH ROAD	TO BIRCH HILL ROAD	Hanworth	220.07	7	1540.49	38,512	2 3
C8632	High Street	Mountbatten Rise	Church Road	Sandhurst	136.34	7.5	1022.55	25,564	3
C8632	Church Road	Ambarrow Crescent	High Street	Sandhurst	87.3	7.5	654.75	16,369	1
C8646	South Hill Road	FROM SOUTH HILL ROAD R/A	TO MANSTON DRIVE	Bracknell	110.13	8	881.04	22,026	2
C9613	Watersplash Lane	FROM BOROUGH BOUNDARY	TO SUNNINGHILL ROAD	Winkfield	256.4	7	1794.8	44,870	3
C8657	Weather Way	FROM LONDON ROAD	TO THE RING	Bracknell	88.66	8.5	753.61	18,840	3
C8635	Mill Lane	FROM LOWER CHURCH ROAD	TO COUNTY BOUNDARY	Sandhurst	280.86	5	1404.3	35,108	3
C8605	Lower Church Road	FROM MILL LANE	TO HIGH STREET	Sandhurst	640.72	5.5	3523.96	88,099	3
C8605	Lower Sandhurst Road	FROM COUNTY BOUNDARY	TO AMBARROW LANE	Sandhurst	504.35	6.5	3278.275	81,957	7 3
C8605	Lower Sandhurst Road	FROM AMBARROW LANE	TO LOWER CHURCH ROAD	Sandhurst	680.03	7	4760.21	119,005	3
C8634	Wellington Road	FROM WELLINGTON CLOSE	TO YORKTOWN ROAD	Sandhurst	132.46	6.5	860.99	21,525	3
C8636	Waterloo Road	FROM ALCOT CLOSE	TO CHURCH STREET	Crowthorne	207.4	6	1244.4	31,110	3
C8636	Church Street	FROM WATERLOO ROAD	TO HIGH STREET	Crowthorne	160.07	6.5	1040.455	26,011	3
C8660	Downshire Way	FROM DOWNSHIRE Way R/A	TO WOKINGHAM ROAD	Bracknell	178.54	15	2678.1	66,953	3
C8649	Crowthorne Road	FROM ROSEDALE GARDENS	TO SPINNER GREEN	Bracknell	38.8	5.5	213.4	5,335	3
C8649	Crowthorne Road	FROM SPINNER GREEN	TO RECTORY LANE	Bracknell	122.93	6.5	799.045	19,976	3
C8649	Crowthorne Road	FROM RECTORY LANE	TO REEDS HILL R/A	Bracknell	249.4	6.5	1621.1	40,528	3
C8649	Crowthorne Road	FROM CROWTHORNE ROAD R/A	TO SWALEDALE	Bracknell	340.93	7.5	2556.975	63,924	3
C8649	Crowthorne Road	FROM SWALEDALE	TO THRESHFIELD	Bracknell	128.57	7.5	964.275	24,107	3
C8649	Crowthorne Road	FROM THRESHFIELD	TO WILDRIDINGS ROAD	Bracknell	148.47	7.5	1113.525	27,838	3
C8649	Wildridings Road	FROM WILDRIDINGS ROAD JUNCTION	TO BISHOPDALE	Bracknell	135.03	15	2025.45	50,636	1
C8649	Wildridings Road	FROM BISHOPDALE	TO DEEPDALE	Bracknell	281.39	7	1969.73	49,243	, 1
C8649	Wildridings Road	FROM DEEPDALE	TO FOUNTAINS GARTH	Bracknell	250.27	7	1751.89	43,797	1
C8649	Wildridings Road	FROM FOUNTAINS GARTH	TO WILDRIDINGS ROAD JUNCTION	Bracknell	167.88	7	1175.16	29,379	2
C8649	Wildridings Road	FROM WILDRIDINGS ROAD JUNCTION	TO MILL LANE	Bracknell	58.47	10	584.7	14,618	2
C8649	Wildridings Road	FROM MILL LANE	TO WILDRIDINGS ROAD JUNCTION	Bracknell	53.72	10	537.2	13,430	2
C8649	Wildridings Road	FROM WILDRIDINGS ROAD JUNCTION	TO INGLETON	Bracknell	319.39	7	2235.73	55,893	2

Road	Road Name	F	Road Description		Length (Provisional)	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
Number	Name	From	То		m	m	sq.m	£	
C8649	Wildridings Road	FROM INGLETON	TO KYLE CLOSE	Bracknell	290.96	7	2036.72	50,918	1
C8649	Wildridings Road	FROM KYLE CLOSE	TO CROWTHORNE ROAD	Bracknell	85.07	7.5	638.025	15,951	2
C8659	Western Road	FROM WESTERN ROAD JUNCTION	TO DOWNMILL ROAD	Bracknell	234.79	10	2347.9	58,698	1
C8659	Western Road	FROM DOWNMILL ROAD	TO EASTHAMPSTEAD ROAD	Bracknell	298.89	9.5	2839.455	70,986	1
C8659	Western Road	FROM EASTHAMPSTEAD ROAD	TO DOWNSHIRE WAY	Bracknell	285.16	10	2851.6	71,290	1
C3022	Park Road	FROM LONDON ROAD	TO DEEPFIELD ROAD	Bracknell	84.15	7.5	631.125	15,778	1
C8647	Doncastle road	Whole Waitrose estate		Bracknell	486.07	8	3888.56	97,214	1
C8670	Sandhurst Road	FROM CROWTHORNE ROAD	High Street	Crowthorne	556.17	7.5	4171.275	104,282	1

Total 1,993,600

Road	Road Name	Ro	pad Description	Parish	Length (Provisional)	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
Number	Name	From	То		m	m	sq.m	£	
U0770	Lovelace Road	FROM LOVELACE ROAD R/A	TO ELLESFIELD AVENUE	Bracknell	86.61	8.5	736.185	£7,361.85	1
U1020	Qualitas	Whole carriageway		Bracknell	625.11	6	3751	£37,506.60	1
U1142	South Meadow	FROM SOUTH ROAD	TO SOUTH MEADOW JUNCTION	Crowthorne	798.15	5.5	4389.825	£43,898.25	1
U0285	College Crescent	FROM COLLEGE ROAD	TO COLLEGE ROAD	Sandhurst	186.36	5.5	1024.98	£10,249.80	1
U0738	Lindenhill Road	FROM LINDENHILL ROAD JUNCTION	TO END OF LINDENHILL ROAD CULDESAC	Priestwood	35.41	5.5	194.755	£1,947.55	1
U0228	Cedars Close	Whole road		Sandhurst	103.34	5.5		£5,683.70	
U0401	Earlswood	FROM RINGMEAD	TO END OF EARLSWOOD CULDESAC	Birch Hill	41.1	6	246.6	£2,466.00	1
U0835	Mickle Hill	Whole road		Sandhurst	769.28	6	4616	£46,156.80	1
U0465	Florence Road	Whole road		Sandhurst	282	6.0		£16,918.80	
U0863	Mulberry Close	FROM FURZEHILL CRESCENT	TO END OF MULBERRY CLOSE CULDESAC	Priestwood	104.68	6	628.08	£6,280.80	1
U0771	Lowbury	Whole road	Surface coure	Bracknell	213	6	1173	£11,734.25	
U0303	Coppice Gardens	Whole Road		Crothorne	135	6	809	£8,090.40	1
U0740	Linkway	FROM EDGCUMBE PARK DRIVE	TO BOROUGH BOUNDARY	Crowthorne	267.09	6	1602.54	£16,025.40	1
U0034	Apple tree way	Whole Road	Surface coure	Owlsmoor	382	6	2291	£10,025.40 £22,909.20	
111160	St Michaela Base	EDOM HIGH STREET	TO MASON PLACE	Little Candhurst	204.20	FF	1600.645		1
U1169	St Michaels Road	FROM HIGH STREET FROM FARINGDON DRIVE	TO END OF ABBEY CLOSE CULDESAC	Little Sandhurst	291.39	5.5		£16,026.45	2
U0001	Abbey Close		TO END OF ANGEL PLACE CULDESAC	Harmans Water	73.3	5	366.5	£3,665.00	2
U0029 U0200	Angel Place Burlsdon Way	FROM ANGEL PLACE JUNCTION Whole road		Binfield Bullbrook	27.95	5.5 6.5		£1,537.25 £13,624.65	
1 			TO END OF CASWALL CLOSE CULDESAC		210	_			2
U0225	Caswall Close	FROM BENETFELD ROAD	TO END OF CHEAM CLOSE CULDESAC	Binfield	53.76	5	268.8	£2,688.00	2
U0246 U1373	Cheam Close Wilmot Close	FROM FARINGDON DRIVE FROM BENETFELD ROAD	TO END OF WILMOT CLOSE CULDESAC	Harmans Water Binfield	71.88 50.76	<u> </u>	359.4	£3,594.00 £2,538.00	)
U1277	Uffington Drive	Whole road	TO END OF WILMOT CLOSE GOLDLOAG	Bracknell	836	5	254 5017	£50,165.40	
01277	Offingion Drive	Ellesfield Ave		Diackileii	630	0	3017	230,103.40	
U0374	Doncastle Road		Oldbury		364.09	8.5	3095	£30,947.65	2
U0515	Girton Close	Whole road		Sandhurst	50.34	5.5	277	£2,768.70	
U0620	Holbeck	Whole Road		Great Hollands	585	0	3512	£35,121.00	
U1021	Queens Close	Whole road	TO FAID OF DOMENIA DEGREE OF THE DEGREE OF T	Ascot	61.45	5	307	£3,072.50	2
U0375	Donnybrook	FROM BIRCH HILL ROAD	TO END OF DONNYBROOK CULDESAC	Birch Hill	169.18	6	1015.08	£10,150.80	
U0781	Lyndhurst Close	Near no 26	Surface coure	Forest Park	255	6	1532	£15,318.00	
U0615	Hillside Drive	Whole road		Binfield	63.14	5.5	347	£3,472.70	
U0360	Deansgate	FROM BIRCH HILL ROAD	TO END OF DEANSGATE CULDESAC	Birch Hill	122.73	6	736.38	£7,363.80	2
U0807	Mansfield Place	Whole road		Ascot	284.4	5	1422	£14,220.00	
U0949	Owlsmoor Road	Yeovil Road	A3095	Sandhurst	1219.7	6	7318	£73,182.00	2
U0667	Jubilee Close	Whole road		Ascot	57.1	5	286	£2,855.00	2
U1294	Wadham	Whole road		Sandhurst	70.3	5.5	387	£3,866.50	2
U0345	Cumnor Way	Whole road		Harmans Water	86.2	5	431	£4,310.00	2
U0420	Emmets Nest	Whole road		Binfield	122.68	6	736	£7,360.80	2
U0833	Merton Close	Whole road		Sandhurst	118.03	6	708	£7,081.80	2
U0844	Milman Close	Whole carriageway (No through Road	From junction Lily Hill Road to end of cul de sac	Bullbrook	83	5	416	£4,156.50	2
U0128	Blackcap Place	whole Carriageway	Off Avocet Crecent	Sandhurst	66.97	5.5	368	£3,683.35	3
U0188	Brunswsick	Whole road		Bracknell	239.44	6	1437	£14,366.40	
U0269	Church Road	Whole road		Owlsmoor	371	8	2780	£27,799.50	
U0378	Dovedale Close	whole road		Owlsmoor	248	6	1366	£13,660.90	3
U0427	Evedon	FROM EVEDON JUNCTION	TO END OF EVEDON CULDESAC	Birch Hill	41.56	6	249.36	£2,493.60	3
U0636	Horsham Road	Whole road		Sandhurst	435.39	6	2612	£26,123.40	3
U0672	Keates Green	Whole Road			63.18	5	316	£3,159.00	3
U0690	King Edwards Close	Whole road		Ascot	37.18	5.5		£3,139.00 £2,044.90	3
U0722	Leaves Green	Whole road		Bracknell	527.61	6	3166	£2,044.90 £31,656.60	
U0741	Liscombe	Whole Road		Birch Hill	527.61	7	3379	£31,656.60 £33,794.80	
U0761	Long Mickle	Whole Road		Little Sandhurst	379	7	2463	£24,625.90	3
na	Mansfield Place	Whole Road		Ascot	101	6	553	£5,530.25	
							555		

Road	Road Name		ad Description	Parish	Length (Provisional)	Width (Provisional)	Area (Provisional)	Estimated Cost	Priority
Number	Name	From	То		m	m	sq.m	£	
U0805	Mansfield Close	Whole Road		Ascot	53	6	292	£2,919.40	1
U0861	Mountbatten Rise	Whole road		Sandhurst	232.18	6	1393	£13,930.80	3
U0961	parkway	Whole road		Crowthorne	271	6	1488		
U0977	Peter House Close	Whole road		Sandhurst	106.6	6	640	£6,396.00	3
U1034	Randall Mead	Whole road		Binfield	47.08	5.5	259		3
U1047	Redditch	Whole Road		Bracknell	305	6.00	1828.44	£18,284.40	3
U1267	Trinity	Whole road		Sandhurst	104.65	5.5	576	£5,755.75	5 3
U1287	Vandyke	FROM START OF VANDYKE CULDESAC	TO VANDYKE JUNCTION AFTER 26.67 METRES	Great Hollands	26.68	6	160.08	£1,600.80	3
U0884	New Road	FROM BAY DRIVE	TO END OF NEW ROAD CULDESAC	Bullbrook	151	5.5	829	£8,285.20	) 1
U0950	Oxenhope	Whole road		Wildridings	46	7	298	£2,977.65	5 3
U1435	York Way	Whole Estate		Sandhurst	362	6.5	2352	£23,517.65	5 3
U0379	Downmill Road	FROM WESTERN ROAD	TO LONGSHOT LANE	Bracknell	452	7	3164	£31,640.00	3
U0800	Malham Fell	Whole road		Wildridings	158	6	948	·	
U1339	West End Lane	Whole Road		Warfield	680	6	4082	£40,821.60	3
U0446	Fernbank Place	Outside 61 - 67		Ascot	454.26	5.5	2498	£24,984.30	3
U1180	Stoney Road	Whole road		Priestwood	514		2828		
U0344	Cumberland Drive	Whole road		Bullbrook	69	7.0	481.53	£4,815.30	3
U1238	The Ridgeway	whole road		Bracknell	242	7	1575	£15,751.45	5 3
U1347	Westley Mill	FROM PENDRYS LANE	TO BOTTLE LANE	Binfield	1003.68	4	4014.72	£40,147.20	3
U1382	Windmill Road	Whole Road		Priestwood	233	6	1279	· ·	_
U0147	Bottle Lane	Junction with Howe Lane		Binfield	2206.76	6	13241	£132,405.60	3
U0718	Lauradale	Whole road		Wildridings	319	7	2231	£22,311.80	
U0980	Pickering	Whole road		Wildridings	277	7	1800	£17,995.90	3
U1434	York Road	Forest Road	Tilehurst Lane	Binfield	239.2	6	1435	£14,352.00	1
110200	Cobbogo Hill Long	FROM HAZELWOOD LANE	TO RYEHURST LANE	\\\omega\	647.50	6			3
U0209 U0362	Cabbage Hill Lane Deepfield Road	Park Road	Bay Road	Warfield Bracknell	617.58 583.27	6	3705.48 3499.62	,	
114000	Matanaplack Laur	EDOM THE ODL AOH	TO NEWELL GREEN	\\\ - \\\ - \\\ - \\\	400.70	4	4005.04	040.050.40	3
U1323	Watersplash Lane	FROM THE SPLASH	TO END OF HONE HILL CULDESAC	Warfield	483.76		1935.04	,	3
U0626 U0777	Hone Hill Lutterworth Close	FROM YORK WAY	TO END OF LUTTERWORTH CLOSE CULDESAC	Sandhurst Bracknell	146.75 127	5.5 7	807.125 826	·	
114000	VPL 1	FROM FOLDERS LANE		0	20.0		405		
U1289	Viking	Whole Road		Great Hollands	20.8	6	125		3
U0750	road)	o/s John Nike Hotel	TO END OF ABINGDON CLOSE CULDESAC	Binfield	55			i	3
U0003	Abingdon Close	FROM WELLINGTON DRIVE	TO END OF BEAUMONT GARDENS CULDESAC	Harmans Water	75.26			,	3
U0088	Beaumont Gardens	FROM WELLINGTON DRIVE	TO END OF BLUE COAT WALK CULDESAC	Harmans Water	81.98			i i	3
U0139	Blue Coat Walk	FROM WELLINGTON DRIVE	TO END OF GIPSY LANE CUL DE SAC	Harmans Water	73.64		368.2		) 3
U0514	Gipsy Lane	FROM LARGES LANE		Bullbrook	150.62			<u> </u>	J
U0562 U0726	Hardwell Way Letcombe Square	Whole Carriageway Whole Road		Harmans Water Bracknell	32.15 46	f	257 365	i i	
			TO END OF LITTLE RINGDALE CULDESAC					,   	3
U0743 U1163	Little Ringdale St Hellens Cresent	FROM UFFINGTON DRIVE Whole road	I TO END OF EITTEE KINGDALE GOEDEGAG	Harmans Water Sandhurst	60.58	6.5		·	J
U1198	sycamore Close	Whole road		Sandhurst	174 57				į
U1351	Whatley Green	FROM WATERHAM ROAD	TO END OF WHATLEY GREEN CULDESAC	Easthampstead	31.75			£2 381 25	
na	Osbourne Lane	Whole Road	I VIII OI WIIATELI OKLEN GOLDEGAG	Warfield	600.55		238	£42 038 50	i
	Lower Broadmoor Rd	100m and including j/w High St	į į	Crowthorne	500.5		4204	£35,035,00	
na	Heron close	Whole road			280.55		3504	£16.833.00	
na				Ascot			1683		
na	Jones Corner	Whole road	lavama Cava-	Ascot	250.35	6	1502	£15,021.00	) T
na	Pine Hill Road	Sandhurst Road	Jerome Corner	Crowthorne					
U1395	Wokingham Road	ROUNDS HILL FROM WOKINGHAM ROAD	TO WOKINGHAM ROAD JUNCTION AFTER 102.20	Priestwood	102.2	4.5	459.9	£4,599.00	3

Total £1,519,107.00

Road Name	From	То	Ward	Parish	Priority
Fernbank Road Ascot	Whole footway on bothsides.	esp from 91 to 117.	Ascot	Ascot	2
New Meadow	Whole footway		Ascot	Ascot	2
Priory Road	Whole footway		Ascot	Winkfield	2
Swinley Road	London Road	Kings Ride	Ascot	Ascot	3
The Close	Whole footway		Ascot	Ascot	1
Chase Gardens	Whole footway		Binfield with Warfield	Binfield	2
Emmets Park	Whole footway		Binfield with Warfield	Binfield	2
Harvest Ride	Binfield Road	Totale Rise	Binfield with Warfield	Binfield	3
Minchin Green	Whole footway		Binfield with Warfield	Binfield	2
Rose Hill	Whole footway		Binfield with Warfield	Binfield	1
A329 London road	From Running Horse to Met Office rbt	On the Travel Lodge side of road	Bullbrook	Bracknell	2
Burlsdon Way	Whole footway		Bullbrook	Bracknell	2
Flint Grove	Whole footway		Bullbrook	Bracknell	2
Lily Hill Road	Waldron Hill	Bullbrook Drive	Bullbrook	Bullbrook	2
Warfield Road	Footway from Hollyspring lane to Wick Hill House		Bullbrook	Bracknell	2
Hone Hill	Whole footway		Central Sandhurst	Bracknell	2
Isis way	Whole footway		Central Sandhurst	Sandhurst	2
Park Road Sandhurst	Whole footway on bothsides.	from junction with Wellington road to York	ktown ro Central Sandhurst	Sandhurst.	1
Parsons Field	Whole footway		Central Sandhurst	Sandhurst	2
Berrybank	Whole footway		College Town	Sandhurst	2
Florence Road	Whole footway		College Town	Sandhurst	1
Laundry Lane	Whole footway		College Town	Sandhurst	2
Bagshot Road FP01	Opladen Way	New Forest Ride	Crown Wood	Bracknell	2
Bowland Drive	Whole footway		Crown Wood	Bracknell	1
Leicester	Whole footway		Crown Wood	Bracknell	2
Nuneaton	Whole footway		Crown Wood	Forest Park	1
Queens Pine	Whole footway		Crown Wood	Bracknell	2
Barwell Close	Whole footway		Crowthorne	Crowthorne	2
Brookers Row	Whole footway		Crowthorne	Crowthorne	2
Coppice Gardens	Whole footway		Crowthorne	Crowthorne	1
Dormer Close	Whole footway .		Crowthorne	Crowthorne	1

Road Name	From	То	Ward	Parish	Priority
Frodsham Way	Whole footway		Crowthorne	Crowthorne	2
Knowles Avenue	Whole footway		Crowthorne	Crowthorne	2
Old Wokingham Road	Whole footway		Crowthorne	Crowthorne	2
Old Wokingham Road	From Hatch Ride to Nine Mile Ride		Crowthorne	Crowthorne	1
South Road Crowthrone.	From Beaufort Park to past Cemetery where footway ends		Crowthorne	Crowthorne	2
Abbotsbury	Whole footway		Great Hollands North	Great Hollands	2
Ashbourne	Whole footway		Great Hollands North	Bracknell	2
Ellesfield Avenue	Whole footway		Great Hollands North	Bracknell	1
Roundabout	Whole footway		Great Hollands North	Bracknell	2
Great Hollands Road	from subay 69 towards Mill Lane.		Great Hollands North	Great Hollands	2
Welbeck	Side 50/51		Great Hollands North	Great Hollands	2
Wylam	Whole footway		Great Hollands North		1
Yardley	Side 43		Great Hollands North	Great Hollands	2
Halewood	Whole fooway		Great Hollands South	Great Hollands	2
Highfield	Whole foooway		Great Hollands South	Great Hollands	2
Holbeck	Whole footway		Great Hollands South	Great Hollands	1
St Andrews	Whole footway		Great Hollands South	Bracknell	2
Staplehurst	Whole footway		Great Hollands South	Great Hollands	1
Tawfield	Whole footway		Great Hollands South	Great Hollands	3
Turnberry	Whole footway		Great Hollands South	Great Hollands	3
Bucklebury	Whole footway		Hanworth	Hanworth	2
Claverdon	Whole footway		Hanworth	Hanworth	2
Cottesmore	Whole footway		Hanworth	Bracknell	2
Ditchling	Whole footway		Hanworth	Bracknell	2
Dryden	Whole footway		Hanworth	Bracknell	2
Inchwood	Whole footway		Hanworth	Bracknell	1
Jameston	Whole footway		Hanworth	Bracknell	1
Kimberley	Whole footway		Hanworth	Hanworth	1
Naseby	Whole footway		Hanworth		1
Nutley	Whole footway		Hanworth		1
Octavia	Whole footway		Hanworth		1
Ollerton	Whole footway		Hanworth	Hanworth	2
Prescott	Whole footway		Hanworth	Bracknell	2

Road Name	From	То	Ward	Parish	Priority
Qualitas	Whole footway		Hanworth		1
Quintilis	Whole footway		Hanworth		1
Brockenhurst Road	Whole footway		Harmans Water	Martins Heron	1
Cumnor Way	Whole footway		Harmans Water	Harmans Water	2
Harmans Water Square	Harmans Water Square	Cumnor Way	Harmans Water		2
Membury Walk	Whole footway		Harmans Water	Bracknell	2
Segsbury Grove	Whole footway		Harmans Water	Harmans Water	2
Uffington Drive	Whole footway		Harmans Water	Harmans Water	2
Wayland Close	Whole footway		Harmans Water	Harmans Water	2
Mickle Hill	Whole footway		Little Sandhurst & Wellington	Little Sandhurst	1
Wokingham Road	Ambarrow Lane	Dukes Ride	Little Sandhurst & Wellington	Little Sandhurst	2
Coningsby	Whole footway		Old Bracknell	Bracknell	3
Reeds Hill	Whole footway		Old Bracknell	Bracknell	3
Rickman Close	Whole footway		Old Bracknell	Bracknell	3
Hexham Close	Whole footway		Owlsmoor	Owlsmoor	2
Magdalene Road	Whole footway		Owlsmoor	Owlsmoor	1
Agar Crescent	Whole footway		Priestwood & Garth	Bracknell	1
Albert Road	Whole footway		Priestwood & Garth	Priestwood	1
Broadlands Court	Whole footway		Priestwood & Garth	Binfield	2
Daventry Court	Whole footway		Priestwood & Garth	Priestwood	1
Dukeshill Road	Whole footway		Priestwood & Garth	Priestwood	1
Fairfax	Whole footway		Priestwood & Garth	Priestwood	2
Keates Green	Whole footway		Priestwood & Garth	Preistwood	1
Stoney Road	Whole footway		Priestwood & Garth	Bracknell	2
Lane	Whole footway		Warfield harvest Ride	Warfield	2
Faircross	Whole footway		Wildridings & Central	Bracknell	2
Kyle Close	Whole footway		Wildridings & Central	Bracknell	2
Rosedale Gardens	Whole footway		Wildridings & Central	Bracknell	2
Rosset close	Whole footway		Wildridings & Central	Bracknell	2
Spinner Green	Whole footway		Wildridings & Central	Bracknell	2
Swaledale	Whole footway		Wildridings & Central	Bracknell	2
Threshfield	Whole footway		Wildridings & Central	Bracknell	2

Road Name	From	То	Ward	Parish	Priority
Locks Ride	Whole footway		Winkfield & Cranbourne	Winkfield	3
Lovel Road	Whole footway		Winkfield & Cranbourne	Winkfield	3
Woolford Close	Whole footway		Winkfield & Cranbourne	Winkfield	3

Road	Road Name	Road Descr	iption	Parish	Est cost £	
Number	Name	From	То			Priority
A3095	Crowthorne Road	Either side of the bus gate crossing		Great Hollands	£15,000.00	1
A3095	Rackstraws Road	Magdalene Road	Abingdon Road	Owlsmoor	£15,000.00	1
A321	Marshall Road	Either side of the Raeburn Way RAB		College Town	£15,000.00	1
A321	Yorktown Road	Near York Way o/s the shops		Sandhurst	£15,000.00	1
A321	Yorktown Road	Crowthorne Road	Scotland Hill	Sandhurst	£15,000.00	1
	Yorktown Road	A3095	Tescos rab	Sandhurst	£15,000.00	1
	Yorktown Road	A3095	Laundry lane	Sandhurst	£15,000.00	1
	Old Wokingham Road	Old Wokingham Road	Peacock Lane	Wokingham	£15,000.00	1
	Harvest Ride	Jigs Lane South	Walsh Avenue	Warfield	£15,000.00	1
	New Wokingham Road	Waterloo Road	Borough Boundary	Crowthorne	£15,000.00	1
	Nine Mile Ride	Pedestrian crossing	Near TRL	Crowthorne	£15,000.00	1
	Bracknell Road	50m junction with Maiden Green		Warfield	£15,000.00	1
	Winkfield Lane	50m junction with Maiden Green		Warfield	£15,000.00	1